Set- 1 ST - 2

- ST g AT A | —
el S0 KOS Y - —
, [ ] 8 = 0008
RN ggn - / : 1000
—_— — 2 eyl TNy | = '
—_— . ;‘ ,/ / !"."" 100 = 0-07
- | T

[ ] | \ -
e /I—L 59 DN e b e
, | " TT~—— oxloZ oo’
— T —— Gx[o0 = 600 /¢

! ! P yr) ®™ ey e
- N

§

SR ) 79 = Lxx‘ix
T 204 = CCIV

i) 499 = CDxCIX S
(v) 358 = CCCLvInT  — IT{_
"3 &9 8.125 - AR
e 270, --
3:500

15695

.v-”& N " Y.

\‘
\

. . . Ia) . il s = g 99 .
i X = AT R 11 GFT kT FoHs oo v &1 B
I — ST = j;OCHQ o’:—' e — - d
| et T W oy . W1

— - : .')._om
T = = w% xé’_u : 5.(;;0 -
i Fodqs = Too+5 - —
\ , = jo5 ¥ae )

Scanned with CamScan



"_Q_‘ l '00 ] " ‘ ;

)
Ao
ro
G

|

NN

o

IR®

oy

o

il

- d,__,_ ' | s 3 .,, ' S : : |3|‘
— — = \ ‘,' , \ ] ". gl 5—_ E q s — e —
-~ 2 doe48 X |06

[ ——— — - 209752 = 13100
K | R | Py . ; = '5236

‘2(;!9":: ‘—':Eﬂ—: 1

1
N
o
N
)
B
1R
)
=)
fo
o
3]
v
|

o ] O =g Xp0 ABTeul 2 er
: N :

- c e
v A IR
. = e —
= S—
) e —
Y A0} ]
- e = e —
e 4
= '— R —— —
'y

Scanned with CamScan



) o) 3 ”
~ 10 8 xin = § STeHT
- | A e ’

20 34+ 374__:{0 = |8 3H I

1‘.1 ) ‘ _‘,-,54')(8 : -
‘a."|3‘ AR N g - R 'T.O:" )(8 :|2£@?}‘.

— A

¥ C‘ _
6- ¢od 2 - o 1dY = gz Hlg
S Hle = j2+3 = 15 HIE

_ - | Y K
IR ICTTIE B {7 B BN FNES BN A [52) a3 f‘(‘“

0, 564 T ———— X564
S 5694 — 5 —— 2 X 564X18

s 89 sl
. 16920 YUH) ;‘4_(
~ 169-9 g7t

Xk o _N | ﬁ bl L
T = wmw ¥ ] T
" "7 % % ‘
L @%crm_ﬁ' ‘?-Erﬁ"o -

<AL g e 9 v Fs | SRS S
¥ g ;-**%x% = o 4=-zuuw Ay

Scanrea witn vamscar



— |

Q'EP).?—- 2 32 4_0! 4R 56! 64—-— X : ) \i
o| t€c 201 24 28, 32 4.

1 ¢ 12 14, 4/ "

Tie %2 1= %= ) =16 ' |
R o ol . Y1 . i

— — , . .}

9 4—! _')l é' 7' g :

e T VR ear el

2 E ' {

o S WA TN | S \p = .gf 350 uT t2 =t !H‘??‘ SIS 9

!

oy PR = ﬁxzx2x2x 2x2x 5><3x7 =, 6720

=TT 3434ng T 6750 L 53

~SVE 763 B6T ° L1 Gg .3

= I
i LR AY

‘;‘I.'. :n |
Jd: IS g1 GT@"ZH G759 A

) ]
39, Sl ATe AId& " 32/ 40,438, 56, 64— S} I
goTd: 1dXTIsTd éldﬁ T (7\4 v

"“,‘__‘ \ ; 3 N ! 1, == A _—

8 6o - NEREE .284—”3—{ ) = -2-8.2!3‘

3tY o o\ RO

SLXEd3 v o O - Py o
- HS 8
(e 320 SRR . 30
e O A3 - 3
51 FIREd 2L
A -hca f¢=+l._. O Jags 1+

NAAA = (46 JW g 10 bo-
365 1, 5 Tt by z £
AT = JToxsmxa‘o - 26658X 146-—x 2k
R TR T S WG AT
’-“"JW :E[o + <A wrva X Z = 3668
— 20650 T 388 34 3

- 275‘:3:8 34 I T =! 338"34'\"’*"4

Scanned with CamScan






